Chapter 5 and 6 Review Questions

Questions

1 The minimum wage is an example of
a. a price floor. 
b. a price ceiling.
c. a tax on a market.
d. a tax on a market.
2 The existence of a shortage in a market will cause:

a. market price to rise and quantity supplied to increase.
b. market price to rise and quantity supplied to decrease.
c. market price to fall and quantity supplied to decrease.

d. market price to fall and quantity supplied to increase.
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Figure 3.1

3 In figure 3.1, if supply decreases, then equilibrium:

a. price falls and quantity rises.

b. price and quantity rise.

c. price rises and quantity falls.

d. price and quantity fall.

4 If the demand for cars increases when the price of good gasoline decreases, then:

a. the two goods are complementary.

b.  gasoline is a normal good.

c.  cars are an inferior good.

d.  the two goods are substitutes.

5 If the demand for a good increases when there is high unemployment, we can conclude that the commodity is:

a. a good for which the law of demand does not apply.

b. a normal good.

c. an inferior good.

d. a luxury good.

6 As more firms produce a product:
a. market supply increases.
b. market demand increases.
c. market price increases.

d. production costs must increase.
7 If you would have been willing to pay $10 for a pizza and you only had to pay $8, what does the difference between $10 and $8 represent?
a. Total benefit.
b. Marginal benefit.
c. Average benefit.
d. Consumer surplus.
8 If at a price of $50, 20 units are sold while at a price of $40, 25 units are sold, then the elasticity of demand for this good is:
a. elastic.
b. perfectly inelastic.
c. inelastic.
d. unit elastic.
9 A horizontal demand curve is:

a. relatively elastic.

b. perfectly inelastic.

c. perfectly elastic.

d. unit elastic.

10 If the price of gasoline increases 30 percent and this causes the quantity demanded to fall 15 percent, the elasticity of demand is equal to::

a. minus 2.

b. minus 450.

c. minus 0.5.

d. minus 15.

11 If the cross-price elasticity of demand for goods A and B is a negative value, this means the two goods are:

a. inferior.

b. substitutes.

c. normal.

d. complements.

12 A primary difference between a sole proprietorship and a partnership is:

a. sole proprietorships have unlimited liability while partnerships have limited liability.

b. sole proprietorships have more layers  of management than partnerships.

c. partnerships have more owners than do sole proprietorships.

d. partnerships can issue stocks and bonds while sole proprietorships cannot.

13 Economic profit is:

a. gross revenue minus explicit and implicit costs.

b. gross revenue minus implicit costs.

c. gross revenue minus explicit costs.

d. equal to accounting profit.

14 Economists assume the goal of consumers is to:

a. do as little work as possible to survive.

b. consume as much as possible.

c. make themselves as well off as possible.

d. make themselves as well off as possible.

15 If you ate too many pieces of pie and got sick, then at least the last piece of pie:

a. had constant total utility.

b. had negative marginal utility.

c. had constant marginal utility.

d. had positive marginal utility.

16 If an inferior good you are consuming has its price increase, you will buy less of it because:

a. the negative income and substitution effects work together.

b. the negative income effect is smaller than the positive substitution effect.

c. the positive income effect is larger than and the negative substitution effect.

d. the positive income and substitution effects work together.

17 Total utility:

a. always increases as a person consumes more and more of a good.

b. is equal to the sum of the marginal utilities of all units consumed.

c. is negative when marginal utility is declining.

d. has a constant rate of increase as a person consumes more and more of a good.

18 If 11 workers can produce a total of 54 units of a product and another worker has a marginal product of six, then the average product of 12 workers is:

a. 5.

b. 54.

c. 60.

d. 48.

19 In the short run if marginal product is below average product then:

a. total cost is at its minimum.

b. average variable cost is increasing.

c. average total cost is at its minimum.

d. marginal cost is falling.

20 Which of the following is a fixed cost?
a. Payments to an electric utility.

b. Payment to hire a security worker to guard the gate to the factory around the clock.

c. Wages to hire assembly line workers.

d. Costs of raw materials.

21 A factor of production that generally is fixed in the short run is:

a. labor.

b. water.

c. raw materials.

d. a building.

22 A factor of production that is not fixed in the short run is:

a. physical capital.

b. labor.

c. technology.

d. land.
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Figure 10.2

23 In figure 10.2, the difference between average total costs and average variable costs is:

a. sunk costs.

b. fixed costs.

c. marginal costs.

d. average fixed costs.
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Figure 11.1

24 At price P4 in the long run, the industry including the firm in figure 11.1 would:

a. remain the same size.

b. cease to exist.

c. have exit of some existing firms.

d. have entry of new firms.

25 At price P3, the firm in figure 11.1 would produce:

a. Q5.

b. Q7.

c. Q4.

d. Q6.

26 If a perfectly competitive firm's price is equal to average total cost, the firm is:

a. incurring a loss.

b. breaking even.

c. earning a profit.

d. not producing in a profit maximizing manner.

27 If a perfectly competitive seller is producing at an output where price is $11 and the marginal cost  is $14.54, then to maximize profits the firm should:

a. produce a larger level of output.

b. not enough information given to answer the question.

c. continue producing at the current output.

d. produce a smaller level of output.

28 Among the characteristics of a perfectly competitive market structure is:

a. a very large number of firms that are small compared to the market.

b. there are no restrictions to entry by new firms.

c. all firms sell identical products.

d. all of the above
29 The demand for an individual seller's product in perfect competition is:

a. vertical.

b. downward sloping.
c. horizontal.

d. the same as market demand.

30 Among the characteristics of an oligopoly market structure is:

a. a unique product.

b. it is easy for new firms to enter the industry.

c. very few sellers.

d. all of the above.

1. A

2. A
3. C

4. A
5. C
6. A
7. D
8. D
9. C
10. C
11. D
12. C
13. A

14. C

15. B

16. B

17. B

18. A
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20. B
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